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1. =151 logx [iu%'gy== 1090.12345 #{[Fi] > logx [V 15¢== log67890 [ F1EeALIHl » [l x =
(A) 67890.12345 (B) 67890 (C) 12345 (D) 12345.67890
{Ejﬁﬁ] ©)
[
log0.12345 = log(1.2345 x 10 1) = — 1 + log1.2345 -
log67890 = log(6.789 x 10%) = 4 + 10g6.789
logx = 4 + l0g1.2345 = log10”* + log1.2345 = log(10* x 1.2345) = log12345
x = 12345
2. (F3¥)=14{110og2.001 = 0.3012 > *7j[Iff ?{}’g"g’ ?
(A) log2001 =3.3012 (B) log0.002001 = —3.3012 (C) logx = 3.3012 Eﬁ » x=2001
(D) logx = —2.3012 Eﬁ » x=0.002001 (E) logo.12.001 = - 0.3012
[i25] (A)C)E)
G
(B)l0og0.002001 = — 3 + l0og2.001 = — 3+ 0.3012 = — 2.6988
(D)logx = —2.3012 = - 3 + 0.6988
(E)I090.12.001 =log ., 2.001 = — 10g2.001 = — 0.3012
3. (HEE) ™SSt ST A
(A) 10g1999 (B) 10g19990 (C)10g3999 (D) 10g0.01999 (E) IogL

1999
[’?Jziiﬁ] (A)(C)
[Fgf’?fé]
(A) 1091999 = log (1.999 x 10°) = 3 + log1.999
(B) 10919990 = log (1.999 x 10*) = 4 + 10g1.999
(C) 1093999 = log (3.999 x 10°) = 3 + 10g3.999
(D) 10g0.01999 = log (1.999 x 107 = — 2 + l0og1.999

(E) Iogﬁ: — 1091999 = — l0g(1.999 x 10°) = — 3 — 1091.999 = — 4 + (1 — log1.999)
EAC)FIHA
4. (52 ™ S » 20 Al

(A) log327 (B) log723 (C) Iog% (D) 10g0.0327 (E) log327000

L1 (A)D)(E)

[
(A) log327 = log (3.27 x 10%) = 2 + log 3.27
(B) log723 = log (7.23 x 10%) = 2 + log 7.23

©) Iog?’% — _log 327 =—log (3.27 x 10%) =— 2 — log 3.27 =— 3 + (1 — log 3.27 )
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(D) 10g0.0327 = log (3.27 x 10" ?) = — 2 + log 3.27
(E) log327000 = log (3.27 x 10°) = 5 + log 3.27
[EF(A)N(D)(B) =Bl

5. (FE) 5 Fildeth — 3 pukl
(A) 10g0.0023 (B) 10g0.00023 (C) Iog%
[Eré'ﬁ] (A)(C)(E)

(D) loga=-3.4771 (E) logh =-2.9931

(o)
(A) 10g0.0023 = log (2.3 x 10"}) =—3+log2.3 .. Fifkts -3
(B) 10g0.00023 = log (2.3 x 10 =~ 4 +log 2.3 .. Filfith —4
(©) |ogi ~ log123 = log (1.23 x 10) =— 2 —log 1.23 = — 3 + (1 — log 1.23)
Fileth -3
(D) loga=—34771=-4+05229 .. Tilfts -
(E) logb =-2.9931 =—3+0.0069 .. Fil% -3
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1. =I5llog2 = 0.3010 + log3 = 0.4771 » log7 = 0.8451 » %, 7°°13, mﬂ“ghr”ﬁﬁ b Bl Ehn > FIEY
#f(m > n) = °

[}?Jé’—?,“] (51 5)

(]
log7* = 60 log7 = 60 x 0.8451 =50 + 0.706 > F i =50 7947, 51 [P Ey> m =51
(log5 =0.6990) < 0.706 <(0.778L=1l0og6) .. @l HrIn=5

2. =15]llog2 = 0.3010 - [[f L 1 ¥54(1.25)" > 10" g O N
[Pfé 173

Pﬁi]

Iog(1.25)”> logl0” = nlogl.25>7 ; (PG Iogl.25:Iog%:1—3log2:0.097 )

= nx0097>7 = n>

=72, > n=73
0.097
3. =14log4.16 = 0.6191 > log4.17 = 0.6201 > #[|*'| Jﬁii$log4l67 AR
T HERIEIA)
{Ejé ] 0.6198

o (HV

{EFEJ%{]
Iog4167 =log(4.167 x 10%) = 3 + log4.167 > rl%Iog4.167 =X
[ ~no ——log 4.16 =0.619
0.01 0.007 |:|094-167 =X __a 0.001
log 4.17 =0.6201
0007 _ & . 4_00007= x=0.6191+ 0.0007 = 0.6198
0.01 0.001
4. =151 47047, 168 i Ep o H| 47547, b g o
]7 %] 59
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{%’Ejé]
47"%%, 168 PEr = 167 <logd7'® <168 = 167 <100 log47 < 168

= 167 <log47 < 1.68 = 35x1.67 <35xlogd7 <35x 1.68
= 585<l0gd7°<58.8 = 47%4}59 b

5. =I4llog3 = 0.4771> 3~ {45/ > £ - QV@#‘I&E* BEVT B O poRE i D30t s bled ik

MiWn=___ - (k=
(Eﬁé 1120 (28
(EFEF]
Iog3 “40—_ 401093 =—40 x 0.4771 = - 19.084 = — 20 + 0.916
(DFIEFEE — 20 > B} | Hekie 53 20 R0 RrF 755 0
(2)='Hy% 0.916
log8 =310g2 =0.9030 > log9=210g3=0.9542 = 1log8 < 0.916 < log9
et 1R O VR k =8
6. wuplogz 0.3010 > log3 =0.4771 > fI]] 12%

(MF__ VR QN (RS 8OEE e WAL Ml B) =
{Eﬁé 1(1)35 (@3- 6)
(EFEJ?:&]

(1)|oglz32 = 32log12 = 32(2log2 + log3) = 32(0.6020 + 0.4771) = 34.5312

(2)log3 = 0.4771 < 0.5312 < log4 = 0.6020 .. =3

2! > 2,225 4-22-8:2">6 .. pB=6 .. (a’ﬂ)—(3 6)

7.5 MBI 10 B [’7&’5{ R =R 590 - B HIFIRT R & R AR

20 f] NES J}%‘z (FII®]57 9 REPF )

Ejéi =] 15
(apgjzi]

nF {7 F|JF1 = 100000(1 +1—) > 200000 = (1.05)"> 2

o 1002 _03010_ )09 o n>15. s pae1s E
logl.05 0.0212 M

8. FIJF [Py 10g5.13 =0.7101 - 10g5.36 =0.7292 » logl.8 =0.2553 » s} 3j|| I/ fifr :

(1) log124000 = o

(2) 10g0.01454 = : (D“'Jzﬁzr ! ?U'J‘E)?‘r%ﬁézé‘w%’i'>

(3) log x=-2.8633 > [l[lx = °

513

(4) x =g m » Hlix = °
(Ejé 1 (1)5.0934 (2)-1.8374 (3)0.00198 (4)1.08
(apgjzi]

(1)3 471 ¢ logl.24 = 0.0934 » 109124000 = log(1.24 x 10°%) =5 + log1.24 = 5.0934
(2) fi &% 10g1.454 = 0.1614 + 0.0012 = 0.1626

—10g0.01454 = log(1.454 x 10~ ) = — 2 + 0.1626 = — 1.8374
(3) log x = — 2.8633 = — 3 + 0.1367
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g‘[?‘«ipllogl.SY =0.1367 = logx=-3+10gl.37=10g0.00137 = x=0.00137

013 1104513 - 310g5.36 - log1.8)

(4) log x = logs m =3

:% (2.7101 — 3 x 0.7292 — 0.2553) = 0.0334 = log1.08 = x=1.08

0. [EELHB HAE H 45 696 - B[4~ - HIFFHEL - 5 2 &£ 10000 7 > 7]

EI T R s A FAT e (AP R

[Ejé'g&;] 13460 7+

[?—F’%ﬁi}
RS 696 0 EPUEE] - W] PIEEF R 296 0 5 F H 15 1Y
= E R FJFIS = 10000(1 + 0.02)" = 10%(1.02)
logS = log[10*(1.02)*] = 4 + 15l0g1.02 = 4 + 15 x 0.0086 = 4.129
[ #< i 411l0g1.346 = 0.1271 + 0.0019 = 0.129 .. S= 10* x 1.346 = 13460 (7 )

x| 0 1 2 3 4 5 6 7 8 9

10( 0000 0043 0086 0128 0170 0212 0253 0294 0334 0374
11)0414 0453 0492 0531 0569 0607 0645 0682 0719 0755
12(0792 0828 0864 0899 0934 0969 1004 1038 1072 1106
13| 1139 1173 1206 1239 1271 1303 1335 1367 1399 1430
14(1461 1492 1523 1553 1584 1614 1664 1673 1703 1732

1217 21 25|29 33 37
11115 19 23|26 30 34
10114 17 21|24 28 31
10113 16 19|23 26 29
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